
UNION #1 ROBERTS 

WATER SATURATION = 33 *1 
GAS GRAVITY = ,76 
GAS-OIL RATIO = 12000 
TEMPERATURE = 73 DEG F 
GRAVITY = 54 API 
POROSITY= 12 y. 
ACRE-FEET = 1353 
RECOVERY FACTOR = 60 V. 
THICKNESS/FORM= 8.75 FEET 

THE ORIGINAL OIL IN PLACE IS 67360.8 STB 

THE RECOVERABLE GAS IS 48^-997 MCF 
THE RECOVERABLE OIL IS 40416.5 STB 

WALLACE ACREAGE 
*** ***************************** 
WATER SATURATION = 30 7. 
GAS SRAVITY = ,76 
GAS-OIL RATIO = 12000 
TEMPERATURE = ~3 BEG F 
GRAVITY = -4 API 
POROGITY= 12 
ACRE-FEET = 3645.34 
RECOVERY FHUTOR = 60 7, 
THICKNESS/FORM= 13.37 FEET 

THE I PI SI UAL OIL IN PLACE IS 2333^3 STE 
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